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Ě

T
Y
P
 N

K
: 
S
P
Ø

A
�
E
N

A
 O

C
E
L
O

B
E
T

O
N

O
V

A

P
O
¨

E
T
 P

O
L̋
 :
 3
 -
2
0
+
2
5
+
2
0
 m

M
O

S
T
 P

Ø
E
S
 Ø

E
K

U
 S

V
R

A
T

K
A

T
Y
P
 N

K
: 
S
P
Ø

A
�
E
N

A
 O

C
E
L
O

B
E
T

O
N

O
V

A

P
O
¨

E
T
 P

O
L̋
 :
 2
 -
 1

9
+
1
9
 m

M
O

S
T
 P

Ø
E
S
 V

Ý
H

L
E
D

O
V

O
U
 K

O
M

U
N
IK

A
C
I

T
Y
P
 N

K
: 
S
P
Ø

A
�
E
N
`
 O

C
E
L
O

B
E
T
O

N
O

V
`

  
  
  
  
  
  
  
  
  
  
  
  
P
R

O
M
Ì
N

N
É
 R

O
Z
P
Ì
T̋

P
O
¨
E
T
 P

O
L̋
 :
 1
7
x
 4

P
O

L
O

V
Ý
 M

O
S
T
 +
 1
x
3
P
O

L
O

V
Ý
 M

O
S
T

M
O

S
T
 -
 B

R
N

O
 H

L
.N
.

TY
P
 N

K
: �

B
 U

Z
A
V
Ø
EN

Ý
 R
`

M

P
O
¨
ET
 P

O
L̋
 : 
2
 -
 P

R
O

M
ÌN

N
É 

R
O
Z
P
ÌT̋

TU
N
EL

O
V
Ý
 M

O
ST

V
Ý
�
K

A
: 
2
-7
,5
 m

D
É
L
K

A
: 
7
3
 m

O
P
Ì
R

N
`
 Z

Ě

V
Ý �

K
A
: 6
 m

D
ÉL

K
A
: 2

4 
m

O
PÌ

R
N
`
 Z

Ě
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